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9. Which of the following is the correet
=

Passive voice form of the sentence?
“He writes 4 letter everyday’,
A) Aletter s v ;
( }_‘_\*ls Written by

him cveryday.
(B) A letter w

as written by

him everyday.,
(©) Aletter will be written

by him cveryday.
(D) Aletter s being written by him cveryday.
tspeech form of the sentence.

She said, ‘1 am going to the market’

(A) She sa}(} that she is going to the market,
{__(B) She said that she Was going to the market.

(C) She said that she has gone to the market.

R

}Q She says that she Was going to the market,
e .

93. Fill the blank. ‘By the time You arrive, we already left.’
(A) have AB) had
(C) will have (D) will

94. Fill the blank : Tf I had know about the party, I gone.
(A) would have U-ig.l — (B) will have
(C) would (D) had

95.

By the time he arrives, we
'>(- (A) will wait

(C) had been waiting

for an hour.

(B) have waited

(D) will have been waiting

96. Choose the correct form of the sentence.
g I have ' friends in my class,
’ (A) many (B) much
(C) alot (D) few
97. Which word is the antonym of ‘ws’ ?
(A) kind (B) selfish
>Fl (C) caring (D) thoughtful
=]
98. What does the phrasal verb ‘give up’ mean ?
1 o
(A) to donate something (B) to stop trying
t
>’ (C) to start something new (D) to celebrate
99 sun rises in the east. Choose correct article.
(A)A (B) An
(D) No article needed
(C).The

100.  Which of the following sentence uses the correct pronoun ?
(A) Everyone must bring their own pencil.
'6‘: (B) The children played with its toys.
(C) She gave me my book to him.

(D) The teacher explained the lesson to they.
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